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6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�$48,5$=
/RFDO� 'LUHWRULD�GR�)RUXP�GH�$TXLUD]

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�1;5�����%526

(6'�0,;
15(���� ���� Ï7,02 0RWRFLFOHWD 35(7$ )/(; �&�.'����$5������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�$48,5$=
/RFDO� 6HFUHWDULD�GD�����9DUD�GD�&RPDUFD�GH�$TXLUD]

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�1;5�����%526

(6'�0,;
15(���� ���� Ï7,02 0RWRFLFOHWD 35(7$ )/(; �&�.'����$5������ ��������� $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

�'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�%$5%$/+$
/RFDO� 6HFUHWDULD�GD����9DUD�GD�&RPDUFD�GH�%DUEDOKD

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�%$785,7(
/RFDO� 6HFUHWDULD�GD�����9DUD�GD�&RPDUFD�GH�%DWXULWH

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�1;5�����%526

(6'�0,;
15(���� ���� Ï7,02 0RWRFLFOHWD 35(7$ )/(; �&�.'����$5������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�%2$�9,$*(0
/RFDO� 'LUHWRULD�GR�)RUXP�GH�%RD�9LDJHP

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�1;5�����%526

(6'�0,;
15(���� ���� %20 0RWRFLFOHWD 35(7$ )/(; �&�.'����$5������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�%5(-2�6$172
/RFDO� 6HF��GD�����9DUD�GD�&RPDUFD�GH�%UHMR�6DQWR

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�&$02&,0
/RFDO� 'HSyVLWR

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 92/.6:$*(1�������� +:0���� ���� %20 8WLOLWiULR %5$1&$ )/(; �%:*)��;��3������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�&$8&$,$
/RFDO� 'LUHWRULD�GR�IRU~P�GD�&RPDUFD�GH�&DXFDLD�

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�&*�����7,7$1

(6'
+<.���� ���� Ï7,02 0RWRFLFOHWD 35(7$ *$62/,1$ �&�0������5������ ��������� $WLYR

6HWRU� &���9,1)-89�����9$5$�81,&$�'$�,1)$1&,$�(�-89(178'(�'$�&20$5&$�'(�&$8&$,$
/RFDO� 6HFUHWDULD�GD�9DUD�~QLFD�GD�LQIkQFLD�H�MXYHQWXGH�GD�FRPDUFD�GH�&DXFDLD

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� &���981,�����9$5$�81,&$�'$�&20$5&$�'(�,1'(3(1'(1&,$
/RFDO� 6HFUHWDULD�GD�9DUD�ÔQLFD�GD�&RPDUFD�GH�,QGHSHQGrQFLD

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�&*�����7,7$1

.6������������
+9+���� ���� Ï7,02 0RWRFLFOHWD %5$1&$ *$62/,1$ �&.�&�����5������ ��������� $WLYR

������ +21'$�&*�����7,7$1
.6������������

+9+���� ���� %20 0RWRFLFOHWD %5$1&$ *$62/,1$ �&.�&�����5������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�,7$3$-(
/RFDO� 6HFUHWDULD�GD����9DUD�GD�&RPDUFD�GH�,WDSDMp

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 92/.6:$*(1�.20%, +:0���� ���� Ï7,02 8WLOLWiULR %5$1&$ )/(; �%:*)��;;�3������ ��������� $WLYR

6HWRU� &���-9')&0�����-8,=$'2�'$�9,2/(1&,$�'20(67,&$�(�)$0,/,$5�&2175$�$�08/+(5�'$�&20$5&$�'(�-8$=(,52�'2�1257(
/RFDO� -8,=$'2�'$�9,2/(1&,$�'20(67,&$�(�)$0,/,$5�&2175$�$�08/+(5�'$�&20$5&$�'(�-8$=(,52�'2�1257(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�/,02(,52�'2�1257(
/RFDO� 6HFUHWDULD�GD�����9DUD�GD�&RPDUFD�GH�/LPRHLUR�GR�1RUWH

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�0$5$&$1$8
/RFDO� 'LUHWRULD�GR�)yUXP�GD�&RPDUFD�GH�0DUDFDQD~

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:32����� ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�0$5$1*8$3(
/RFDO� 'HSyVLWR�GH�0DUDQJXDSH

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�129$�5866$6
/RFDO� 'LUHWRULD�GR�)yUXP�GH�1RYD�5XVVDV

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�&*�����7,7$1

.6������������
+9+���� ���� %20 0RWRFLFOHWD %5$1&$ *$62/,1$ �&.�&�����5������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�129$�5866$6
/RFDO� 6HFUHWDULD�GD����9DUD�GD�&RPDUFD�GH�1RYD�5XVVDV

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 92/.6:$*(1�.20%, +:0���� ���� %20 8WLOLWiULR %5$1&$ )/(; �%:*)��;��3������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�48,;$'$
/RFDO� 'LUHWRULD�GR�)yUXP�GH�4XL[DGD

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���)',5)25���',5(725,$�'2�)2580���&20$5&$�'(�62%5$/
/RFDO� *DUDJHP�GH�6REUDO

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ :2/.6:$*(0�.20%,

)(&+$'$
+98���� ���� %20 8WLOLWiULR %5$1&$ *$62/,1$ �%:===���:3������ ��������� $WLYR

6HWRU� &���9��������9$5$�'$�&20$5&$�'(�7$8$
/RFDO� 6HFUHWDULD�GD����9DUD�GD�FRPDUFD�GH�7DXi

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +21'$�&*�����7,7$1

.6������������
+9+���� ���� Ï7,02 0RWRFLFOHWD %5$1&$ *$62/,1$ �&.�&�����5������ ��������� $WLYR

6HWRU� &���981,�����9$5$�81,&$�'$�&20$5&$�'(�9,d26$�'2�&($5$
/RFDO� 6HFUHWDULD�GD�9DUD�ÔQLFD�GD�&RPDUFD�GH�9LoRVD�GR�&HDUi

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 92/.6:$*(1�.20%, +:0���� ���� Ï7,02 8WLOLWiULR %5$1&$ )/(; 6%:*)��;��3������ ��������� $WLYR
������ +21'$�&*�����7,7$1

(6'
+</���� ���� Ï7,02 0RWRFLFOHWD 35(7$ *$62/,1$ �&�0������5������ ��������� $WLYR

6HWRU� (60&',5*(���',5(725,$�*(5$/��(60(&�
/RFDO� 'LUHWRULD�*HUDO�GD�(VPHF

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +<1'$,�+%������

6('$1
41'���� ���� Ï7,02 $XWRPyYHO 35$7$ )/(; �%+%*��'%-3������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(6$,5721���*$'(6���3$8/2�$,5721�$/%848(548(�),/+2
/RFDO� *$'(6���3$8/2�$,5721�$/%848(548(�),/+2

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6$1721,2$%(/���*$'(6���$1721,2�$%(/$5'2�%(1(9,'(6�025$(6
/RFDO� *$'(6���$17Ð1,2�$%(/$5'2�%(1(9,'(6�025$(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6%(=(55$���*$'(6���)5$1&,6&2�%(=(55$�&$9$/&$17(
/RFDO� *$'(6���)5$1&,6&2�%(=(55$�&$9$/&$17(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6&$5/26���*$'(6���&$5/26�52'5,*8(6�)(,726$
/RFDO� *$'(6���&$5/26�52'5,*8(6�)(,726$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ &+(952/(7�6'

(;35(66,21
+<'���� ���� %20 $XWRPyYHO 35(7$ )/(; �%*$'��:��%������ ��������� $WLYR

6HWRU� *$'(6&$5/26)257(���*$'(6���&$5/26�$/%(572�0(1'(6�)257(
/RFDO� *$'(6���&$5/26�$/%(572�0(1'(6�)257(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6&257(=���*$'(6���,1$&,2�'(�$/(1&$5�&257(=�1(72
/RFDO� *$'(6���,1È&,2�'(�$/(1&$5�&257(=�1(72

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6'$5,9$/���*$'(6���)5$1&,6&2�'$5,9$/�%(6(55$�35,02
/RFDO� *$'(6���)5$1&,6&2�'$5,9$/�%(6(55$�35,02

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(6'859$/),/+2���*$'(6���'859$/�$,5(6�),/+2
/RFDO� *$'(6���'859$/�$,5(6�),/+2

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(6(0$18(/���*$'(6���(0$18(/�/(,7(�$/%848(548(
/RFDO� *$'(6���(0$18(/�/(,7(�$/%848(548(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)$7,0$/285(,5���*$'(6���0$5,$�'(�)$7,0$�'(�0(/2�/285(,52
/RFDO� *$'(6���0$5,$�'(�)È7,0$�'(�0(/2�/285(,52

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(6)&$9,$1$���*$'(6���)5$1&,6&$�$'(/,1(,'(�9,$1$
/RFDO� *$'(6���)5$1&,6&$�$'(/,1(,'(�9,$1$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)&2&$51(,52���*$'(6���)5$1&,6&2�&$51(,52�/,0$
/RFDO� *$'(6���)5$1&,6&2�&$51(,52�/,0$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)&2/,1&2/1���*$'(6���)5$1&,6&2�/,1&2/1�$5$8-2�(�6,/9$
/RFDO� *$'(6���)5$1&,6&2�/,1&2/1�$5$Ò-2�(�6,/9$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)&20$852���*$'(6���)5$1&,6&2�0$852�)(55(,5$�/,%(5$72
/RFDO� *$'(6���)5$1&,6&2�0$852�)(55(,5$�/,%(5$72

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)&20(1'(6���*$'(6���)5$1&,6&2�'(�$66,6�),/*8(,5$�0(1'(6
/RFDO� *$'(6���)5$1&,6&2�'(�$66,6�),/*8(,5$�0(1'(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6)&23217(6���*$'(6���)5$1&,6&2�*/$'<621�3217(6
/RFDO� *$'(6���)5$1&,6&2�*/$'<621�3217(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(6*20(60285$���*$'(6���)5$1&,6&2�*20(6�'(�0285$
/RFDO� *$'(6���)5$1&,6&2�*20(6�'(�0285$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6+&255(,$���*$'(6���+$52/'2�&255(,$�'(�2/,9(,5$�0$;,02
/RFDO� *$'(6���+$52/'2�&255(,$�'(�2/,9(,5$�0È;,02

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6+(/(1$/8&,$���*$'(6��+(/(1$�/8&,$�62$5(6
/RFDO� *$'(6���+(/(1$�/Ò&,$�62$5(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6+(5$&/,72���*$'(6���+(5$&/,72�9,(,5$�'(�6286$�1(72
/RFDO� *$'(6���+(5$&/,72�9,(,5$�'(�6286$�1(72

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(6-26(7$5&,/,���*$'(6���-26(�7$5&,/,2�6286$�'$�6,/9$
/RFDO� *$'(6���-26e�7$5&Ë/,2�6286$�'$�6,/9$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6-8&,'���*$'(6���-8&,'�3(,;272�'2�$0$5$/
/RFDO� *$'(6���-8&,'�3(,;272�'2�$0$5$/

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6/,*,$$1'5$'���*$'(6���/,*,$�$1'5$'(�'(�$/(1&$5�0$*$/+$(6
/RFDO� *$'(6���/,*,$�$1'5$'(�'(�$/(1&$5�0$*$/+­(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6/,5$5$026���*$'(6���/,5$�5$026�'(�2/,9(,5$
/RFDO� *$'(6���/,5$�5$026�'(�2/,9(,5$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(6/,6(7(���*$'(6���/,6(7(�'(�6286$�*$'(/+$
/RFDO� *$'(6$���/,6(7(�'(�6286$�*$'(/+$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6/8,=(9$/'2���*$'(6���/8,=�(9$/'2�*21d$/9(6�/(,7(
/RFDO� *$'(6���/8,=�(9$/'2�*21d$/9(6�/(,7(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(60$5,$('1$0���*$'(6���0$5,$�('1$�0$57,16
/RFDO� *$'(6$���0$5,$�('1$�0$57,16

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(60$5,$*/$'<6���*$'(6���0$5,$�*/$'<6�/,0$�9,(,5$
/RFDO� *$'(6$���0$5,$�*/$'<6�/,0$�9,(,5$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(60$5,$,5$1(,���*$'(6���0$5,$�,5$1(,'(�0285$�6,/9$
/RFDO� *$'(6���0$5,$�,5$1(,'(�0285$�6,/9$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(60$5,2�3$5(17���*$'(6���0$5,2�3$5(17(�7(2),/2�1(72
/RFDO� *$'(6���0È5,2�3$5(17(�7(Ï),/2�1(72

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(60$5721,2���*$'(6���)5$1&,6&2�0$5721,2�3217(6�'(�9$6&21&(/26
/RFDO� *$'(6���)5$1&,6&2�0$5721,2�3217(6�'(�9$6&21&(/26

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(60,5$&(0$���*$'(6���0$5,$�,5$&(0$�0$57,16�'2�9$/(
/RFDO� *$'(6���0$5,$�,5$&(0$�0$57,16�'2�9$/(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(61$,/'(���*$'(6���0$5,$�1$,/'(�3,1+(,52�12*8(,5$
/RFDO� *$'(6���0$5,$�1$,/'(�3,1+(,52�12*8(,5$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(63%$1+26���*$'(6���3$8/2�)5$1&,6&2�%$1+26�3217(
/RFDO� *$'(6���3$8/2�)5$1&,6&2�%$1+26�3217(

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(63('526$���*$'(6���)5$1&,6&2�3('526$�7(,;(,5$
/RFDO� *$'(6���)5$1&,6&2�3('526$�7(,;(,5$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(65$,081'2���*$'(6���5$,081'2�121$72�6,/9$�6$1726
/RFDO� *$'(6���5$,081'2�121$72�6,/9$�6$1726

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(66(5*,$���*$'(6���6(5*,$�0$5,$�0(1'21d$�0,5$1'$
/RFDO� *$'(6���6e5*,$�0$5,$�0(1'21d$�0,5$1'$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(67(2'252���*$'(6���7(2'252�6,/9$�6$1726
/RFDO� *$'(6���7(2'252�6,/9$�6$1726

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(67(5(=(1(80$���*$'(6���7(5(=(�1(80$11�'8$57(�&+$9(6
/RFDO� *$'(6���7(5(=(�1(80$11�'8$57(�&+$9(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32,���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(69(5$/8&,$���*$'(6���9(5$�/8&,$�&255(,$�/,0$
/RFDO� *$'(6���9(5$�/Ò&,$�&255(,$�/,0$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ *È6�1$785$/ �1�%%�$'�-<������ $WLYR



3XEOLFDomR�2ILFLDO�GR�7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi���/HL�)HGHUDO�Q�������������DUW����

��'LVSRQLELOL]DomR��6HJXQGD�IHLUD����GH�)HYHUHLUR�GH����� )RUWDOH]D��$QR�9,,,���(GLomR�����&DGHUQR����$GPLQLVWUDWLYR

3RGHU�-XGLFLiULR
7ULEXQDO�GH�-XVWLoD�GR�(VWDGR�GR�&HDUi
'HSDUWDPHQWR�GH�0DWHULDO�H�3DWULP{QLR
'LYLVmR�GH�3DWULP{QLR

6HWRU� *$'(69,/$8%$���*$'(6���0$5,$�9,/$8%$�)$8672�/23(6
/RFDO� *$'(6���0$5,$�9,/$8%$�)$8672�/23(6

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32%���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� *$'(6:$6+,1*721���*$'(6���:$6+,1*721�/8,6�%(=(55$�'(�$5$8-2
/RFDO� *$'(6���:$6+,1*721�/8,6�%(=(55$�'(�$5$Ò-2

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$';-<������ $WLYR

6HWRU� *$'(6;,0(1(6���*$'(6���)(51$1'2�/8,=�;,0(1(6�52&+$
/RFDO� *$'(6���)(51$1'2�/8,=�;,0(1(6�52&+$

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ 1,66$1�6(175$ 32.���� ���� Ï7,02 $XWRPyYHO 35(7$ )/(; �1�%%�$'�-<������ $WLYR

6HWRU� 7-&($660,/,7$5���$66,67(1&,$�0,/,7$5
/RFDO� $66,67Ç1&,$�0,/,7$5

3DWULP{QLR 0DUFD�0RGHOR 3ODFD $QR &RQVHUYDomR 7LSR &RU &RPEXVWtYHLV &KDVVL 5(1$9$0 *DUDQWLD 6LWXDomR
������ +<1'$,�+%������

6('$1
41%���� ���� Ï7,02 $XWRPyYHO 35$7$ )/(; �%+%*��'%-3������� $WLYR

������ +<1'$,�+%������
6('$1
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